














Grade 4 Math - Session 2 Released

6. One ray of an angle is shown below. Use the protractor to draw another ray so that the angle
formed by the two rays is 50°.
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7. Rachel says that 2, 5, and 7 are all factors of her favorite number. Select the three statements
that must be true about Rachel’s favorite number.

A. Rachel’s favorite number must be 70.

Rachel’s favorite number must be even.

Rachel’s favorite number must end in a 5.

Rachel’s favorite number could have 10 as a factor.

Rachel’s favorite number must have at least one more factor.

nmom o o w

Rachel’s favorite number could be either of 2 different numbers less than 100.

8. Last year, a museum had eighty-five thousand twenty visitors. What is the number of visitors
the museum had last year as a base ten numeral?
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A model is shown.

D-D-B-DB-P

Which expression represents the model?
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. Which diagram shows two perpendicular line segments?
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11. The students and teachers at Maple Grove Elementary are going on a school trip. There are
16 school buses that are each taking 48 people on the trip. What is the total number of people
on all 16 school buses?

A. 288
B. 336
C. 728
D. 768

12. Sam has j gallon of milk. How many pints of milk does he have?

12
24

o0 ®»

13. Suzie has 10 marbles and adds 2 marbles to her collection each week. Which pattern
represents the number of marbles she has for week 0 through week 47?7

A. 2,4,6,8,10

B. 2,4,8,16,32

C. 10,12, 14,16, 18
D. 10, 20, 40, 80, 160

14. The city of Franklin has a population of 46,578. The city of Valley Grove has a population of
51,926. Both populations are rounded to the nearest thousand. What is the best estimate for
the combined population of the two cities?

A. 90,000
B. 97,000
C. 99,000
D. 100,000
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15.

16.

17.

S
8
show the fraction of a pound of potato salad that each person could have eaten, Taj wrote the

Ramon, Samantha, and Taj went to a picnic. They ate a total of _ pound of potato salad. To

equation shown.

+ +

L1, 0O, O
8 8 8

=2
8

Write a number from 1 to 8 in each box to show the fraction of a pound of potato salad that
each person could have eaten.

I I
8 8 8

8

A school cafeteria prepared chicken nuggets for lunch. Each of 432 students was served
6 chicken nuggets. At the end of lunch, there were 43 chicken nuggets left unserved. How
many chicken nuggets did the cafeteria prepare for lunch?

A. 475
B. 481
C. 2,549
D. 2,635

John decorates a poster in the shape shown.

Select the two categories that describe the shape of John’s poster.

A. square

B. triangle

C. rhombus

D. rectangle

E. quadrilateral
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18. Jerry ran

19.

ran?

A. 0.04
B. 04
C. 4
D. 14

of a mile. Which number could Jerry use to show the distance, in miles, he

Travis solves a math problem on a piece of paper. On the paper, Travis shows how he finds the
perimeter of a rectangular poster by adding all four side lengths together—but the paper gets

torn. Part of the piece of paper is shown.

4 feet + 3 feet + 3 feet +§

What is the perimeter, in feet, of the poster?

A.

B.
C.
D

10
12
13
14
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20. There are 13,517 students in the Anoka School District and 22,419 students in the Brower
School District. Which statement about the number of students in the Anoka and Brower
School Districts is true?

A.

The number of students in the Anoka School District is less than the number of students
in the Brower School District. The value of the tens place in the number of students in the
Anoka School District is less than the value of the tens place in the number of students in
the Brower School District.

The number of students in the Anoka School District is less than the number of students
in the Brower School District. The value of the ten thousands place in the number of
students in the Anoka School District is less than the value of the ten thousands place in
the number of students in the Brower School District.

The number of students in the Anoka School District is greater than the number of
students in the Brower School District. The value of the hundreds place in the number of
students in the Anoka School District is greater than the value of the hundreds place in
the number of students in the Brower School District.

The number of students in the Anoka School District is greater than the number of
students in the Brower School District. The value of the thousands place in the number of
students in the Anoka School District is greater than the value of the thousands place in
the number of students in the Brower School District.
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21. Sara used a total of 1 cup of liquid for a recipe. She used 2 cup of vinegar, and the rest of the

liquid she used was milk.

C >
— 1cup
4 cu
5 p
%cup
2
5 cup
1 cup
5
o J

How much milk, in cups, did Sara use for the recipe?

A.é
5. ¢
C.g
D. 12
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Please use ONLY a Number 2 pencil for this session.

Session 3

Directions

Mathematics

Now you will be taking Session 3 of the Mathematics Practice Form. This
session includes a Performance Event that contains a set of questions
based on a common task or scenario. Some questions will have answer
choices that begin with letters. Circle the letter of each correct answer. Other
questions will ask you to circle, write or show your answers. Read each
question carefully and follow the directions. Mark all your answers in your
test booklet.
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Josie has a small farm. She has 3 kinds of fruit trees on her farm. The number of each type of fruit
tree on her farm is shown in the picture graph below.

Trees on Josie’s Farm

E=LIXX
Peach * q
=LXX

Key: * =6 trees

Each Saturday morning, she picks fruit to sell at a market. The number of boxes of each type of
fruit she picked last Saturday is shown in the picture graph below. Each box holds 15 pounds of
fruit.

Boxes of Fruit Brought to Market

o] (D
Peach
Pear

Key: THH] = 2 boxes

1. Use the Trees on Josie’s Farm picture graph to answer the question.

How many more pear trees than peach trees does Josie have on her farm?

A.

B. 6
C. 9
D. 15
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2. Use the Trees on Josie’s Farm picture graph to answer the question.

Josie’s apple trees are planted in rows. Each row has the same number of apple trees. There
are at least 6 apple trees in each row. There are at least 2 rows. Complete the table to show
the number of rows and apple trees that Josie could have on her farm.

Number of Rows | Apple Trees in Each Row

3. Use the Boxes of Fruit Brought to Market picture graph to answer the question.
Josie makes a picture graph to show the total number of pounds of each type of fruit she

brought to the market. Use the symbols to draw a picture graph to show the total number of
pounds of each of the three types of fruit that Josie brought to market.

F
A

Pounds of Fruit Brought to Market

Peach

Pear

Key: A =10 pounds

4. Use the Trees on Josie’s Farm picture graph to answer the question.

Josie plants more peach and pear trees.

* When she is done, she has more peach trees than pear trees.
* When she is done, she has more pear trees than apple trees.

What is the fewest number of trees Josie could have planted?
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